| ROUTE | CONTRACTOR | SCHOOL | DISTRICT | COST | DAYS | TOTAL |
|-------|--------------|------------------------|-----------------|----------|------|-------------|
| 206 | II 0 A | 1ST CEREBRAL PALSEY OF | DOCELLE | | | |
| 386 | H & A | NJ | ROSELLE | \$395.00 | 30 | \$11,850.00 |
| 226 | JARIS | ACADEMY 360 - LOWER | CLARK | \$385.00 | 22 | \$8,470.00 |
| 68 | JARIS | ACADEMY 360 - LOWER | MOUNTAINSIDE | \$370.00 | 22 | \$8,140.00 |
| 62 | A & M | ACADEMY 360 - LOWER | RAHWAY | \$390.00 | 22 | \$8,580.00 |
| 44 | BRIGHT START | ACADEMY 360 - LOWER | ROSELLE | \$489.00 | 22 | \$10,758.00 |
| 65 | NELVI | ACADEMY 360 - LOWER | UNION | \$440.00 | 22 | \$9,680.00 |
| 137 | FIRST CARE | ACADEMY 360 - LOWER | UNION | \$435.00 | 22 | \$9,570.00 |
| 381 | PRESTIGE | ACADEMY 360 - LOWER | UNION | \$548.00 | 22 | \$12,056.00 |
| 54 | PRESTIGE | ACADEMY 360 - LOWER | WEST ORANGE | \$598.00 | 22 | \$13,156.00 |
| 13 | FIRST CARE | ACADEMY 360 - LOWER | WESTFIELD | \$499.00 | 22 | \$10,978.00 |
| 408 | JARIS | ACADEMY 360 - LOWER | WESTFIELD | \$370.00 | 22 | \$8,140.00 |
| 5 | K & S | ACADEMY 360 - UPPER | SCOTCH PLAINS | \$648.00 | 22 | \$14,256.00 |
| 149 | NELVI | ACADEMY 360 - UPPER | BERKLEY HEIGHTS | \$380.00 | 22 | \$8,360.00 |
| 274 | PRESTIGE | ACADEMY 360 - UPPER | CLARK | \$448.00 | 22 | \$9,856.00 |
| 92 | FIRST CARE | ACADEMY 360 - UPPER | NEW PROVIDENCE | \$599.00 | 22 | \$13,178.00 |
| 47 | A & M | ACADEMY 360 - UPPER | RAHWAY | \$460.00 | 22 | \$10,120.00 |
| 8 | PRESTIGE | ACADEMY 360 - UPPER | UNION | \$448.00 | 22 | \$9,856.00 |
| 97 | K & S | ACADEMY 360 - UPPER | WEST ORANGE | \$700.00 | 22 | \$15,400.00 |
| 117 | FIRST CARE | ACADEMY 360 - UPPER | WEST ORANGE | \$429.00 | 22 | \$9,438.00 |
| 140 | JARIS | ACADEMY 360 - UPPER | WEST ORANGE | \$390.00 | 22 | \$8,580.00 |
| 21 | A & M | ACADEMY 360 - UPPER | WESTFIELD | \$440.00 | 22 | \$9,680.00 |
| 71 | FIRST CARE | ACADEMY LEARNING | CRANFORD | \$519.00 | 29 | \$15,051.00 |
| 28 | A & M | ACADEMY OF NJ | RAHWAY | \$360.00 | 24 | \$8,640.00 |
| 91 | ON THE DOT | ALJ | CLARK | \$290.00 | 21 | \$6,090.00 |
| 167 | BRIGHT START | ALJ | GARWOOD | \$239.00 | 21 | \$5,019.00 |
| 163 | FIRST CARE | ALLEGRO | CLARK | \$539.00 | 30 | \$16,170.00 |
| 209 | JARIS | ALPINE | CRANFORD | \$490.00 | 30 | \$14,700.00 |
| 170 | JARIS | ALPINE | WESTFIELD | \$490.00 | 30 | \$14,700.00 |
| 376 | FIRST CARE | BANYAN HS | SCOTCH PLAINS | \$479.00 | 23 | \$11,017.00 |
| 122 | JARIS | BANYAN SCHOOL | LINDEN | \$375.00 | 23 | \$8,625.00 |
| 153 | NELVI | BANYAN SCHOOL | MOUNTAINSIDE | \$340.00 | 23 | \$7,820.00 |
| 12 | PRESTIGE | BANYAN SCHOOL | SCOTCH PLAINS & | | | |
| 12 | PRESTIGE | BANTAN SCHOOL | WESTFIELD | \$448.00 | 23 | \$10,304.00 |
| 262 | JARIS | BANYAN SCHOOL | UNION | \$480.00 | 23 | \$11,040.00 |
| 242 | PRESTIGE | BRIGHT BEGINNINGS | RAHWAY | \$448.00 | 29 | \$12,992.00 |
| 104 | FIRST CARE | BRIGHT BEGINNINGS | ROSELLE | \$599.00 | 29 | \$17,371.00 |

| 245 ON THE DOT BRIGHT BEGINNINGS UNION \$385.00 195 ON THE DOT BROAD STEP ACADEMY UNION \$679.00 184 JARIS BROWNSTONE RAHWAY \$442.00 118 JARIS CALAIS CLARK & RAHWAY \$485.00 197 JARIS CALAIS NEW PROVIDENCE \$428.00 295 JARIS CALAIS UNION \$373.00 166 BUSY BEE CAMP @ HILLSIDE AVE ELIZABETH 6370.00 | 30 18 30 | \$20,370.00 \$7,956.00 |
|--|----------------|---------------------------|
| 184 JARIS BROWNSTONE RAHWAY \$442.00 118 JARIS CALAIS CLARK & RAHWAY \$485.00 197 JARIS CALAIS NEW PROVIDENCE \$428.00 295 JARIS CALAIS UNION \$373.00 166 BUSY REF CAMP @ HILLSIDE AVE FUZABETH | 18 30 | \$7,956.00 |
| 118 JARIS CALAIS CLARK & RAHWAY \$485.00 197 JARIS CALAIS NEW PROVIDENCE \$428.00 295 JARIS CALAIS UNION \$373.00 166 BUSY BEE CAMP @ HILLSIDE AVE FLIZABETH | 30 | |
| 197 JARIS CALAIS NEW PROVIDENCE \$428.00 295 JARIS CALAIS UNION \$373.00 166 BUSY REE CAMP @ HILLSIDE AVE FLIZABETH | | \$14 550 00 |
| 295 JARIS CALAIS UNION \$373.00 166 BUSY BEE CAMP @ HILLSIDE AVE FLIZABETH | 30 | 717,550.00 |
| 166 BUSY BEE CAMP @ HILLSIDE AVE FLIZABETH | | \$12,840.00 |
| I 166 I BUSY BEE I ~ THE I BUZABETH I | 30 | \$11,190.00 |
| SCHOOL \$370.00 | 19 | \$7,030.00 |
| 173 PRESTIGE CAPSTONE LINDEN \$448.00 | 30 | \$13,440.00 |
| 172 JARIS CAPSTONE WESTFIELD \$402.00 | 30 | \$12,060.00 |
| 348 MADISON COACH CELEBRATE THE CHILDREN ROSELLE \$472.00 | 23 | \$10,856.00 |
| 289 BUSY BEE CELEBRATE THE CHILDREN SCOTCH PLAINS \$408.00 | 23 | \$9,384.00 |
| 168 K & S CELEBRATE THE CHILDREN WEST ORANGE \$598.00 | 23 | \$13,754.00 |
| 207 FIRST CARE CENTER FOR LIFELONG LEARNING CLARK \$669.00 | 29 | \$19,401.00 |
| 106 NELVI CENTER FOR LIFELONG LINDEN \$360.00 | 29 | \$10,440.00 |
| 182 J & J CENTER FOR LIFELONG LINDEN \$635.00 | 29 | \$18,415.00 |
| 76 NELVI CENTER FOR LIFELONG RAHWAY \$410.00 | 29 | \$11,890.00 |
| 81 FIRST CARE CENTER FOR LIFELONG LEARNING RAHWAY \$469.00 | 29 | \$13,601.00 |
| 78 PRESTIGE CENTER FOR LIFELONG LEARNING ROSELLE \$408.00 | 29 | \$11,832.00 |
| 269 J & J CENTER FOR LIFELONG ROSELLE \$555.00 | 29 | \$16,095.00 |
| 56 A & M CENTER SCHOOL NEW PROVIDENCE \$360.00 | 20 | \$7,200.00 |
| 136 A & M CENTER SCHOOL CRANFORD & WESTFIELD \$360.00 | 20 | \$7,200.00 |
| 165 A & M CENTER SCHOOL LINDEN \$360.00 | | \$7,200.00 |
| 171 A & M CENTER SCHOOL MOUNTAINSIDE \$280.00 | | \$5,600.00 |
| 20 A & M CENTER SCHOOL PLAINFIELD \$390.00 | | \$7,800.00 |
| 275 PRESTIGE CENTER SCHOOL RAHWAY \$398.00 | 20 | \$7,960.00 |
| 309 A & M CENTER SCHOOL SCOTCH PLAINS \$350.00 | | \$7,000.00 |

| 53 | PRESTIGE | CHAPEL HILL | ELIZABETH | \$448.00 | 30 | \$13,440.00 |
|-----|------------|------------------------|----------------------------|----------|----|-------------|
| 99 | K & S | CHAPEL HILL | WEST ORANGE | \$508.00 | 30 | \$15,240.00 |
| 7 | A & M | COASTAL LEARNING | PLAINFIELD | \$560.00 | 30 | \$16,800.00 |
| 86 | PRESTIGE | COASTAL LEARNING | RAHWAY | \$458.00 | 30 | \$13,740.00 |
| 132 | BUSY BEE | COASTAL LEARNING | UNION | \$426.00 | 30 | \$12,780.00 |
| 105 | NIDI VI | COLLED | CRANFORD & | | | |
| 135 | NELVI | COLLIER | KENILWORTH | \$280.00 | 30 | \$8,400.00 |
| 311 | A & M | COLLIER | LINDEN | \$390.00 | 30 | \$11,700.00 |
| 111 | PRESTIGE | COLLIER | RAHWAY | \$408.00 | 30 | \$12,240.00 |
| 298 | K & S | COLLIER | SCOTCH PLAINS | \$508.00 | 30 | \$15,240.00 |
| 103 | ON THE DOT | COLLIER | UNION | \$395.00 | 30 | \$11,850.00 |
| 230 | BUSY BEE | COLUMBIA MIDDLE SCHOOL | MOUNTAINSIDE | \$388.00 | 28 | \$10,864.00 |
| 395 | ON THE DOT | CORNERSTONE | GARWOOD & RAHWAY | \$360.00 | 28 | \$10,080.00 |
| | | | MOUNTAINSIDE & | | | |
| 127 | K & S | CORNERSTONE | SCOTCH PLAINS & | | | |
| | | | WESTFIELD | \$448.00 | 28 | \$12,544.00 |
| 394 | BY FAITH | CORNERSTONE | SUMMIT | \$375.00 | 28 | \$10,500.00 |
| 35 | PRESTIGE | CPC HIGH POINT | ELIZABETH | \$398.00 | 25 | \$9,950.00 |
| 324 | NELVI | CPC HIGH POINT | ELIZABETH | \$440.00 | 25 | \$11,000.00 |
| 145 | A & M | CPC HIGH POINT | RAHWAY | \$370.00 | 25 | \$9,250.00 |
| 95 | NELVI | CPC HIGH POINT | UNION | \$400.00 | 25 | \$10,000.00 |
| 96 | K & S | CPC HIGH POINT | UNION | \$435.00 | 25 | \$10,875.00 |
| 41 | PRESTIGE | CPC HIGH POINT | WESTFIELD | \$448.00 | 25 | \$11,200.00 |
| 48 | PRESTIGE | CRAIG LOWER | WESTFIELD | \$448.00 | 20 | \$8,960.00 |
| 296 | | CROSSROADS - UCESC | CLARK & LINDEN & RAHWAY | \$735.00 | 28 | \$20,580.00 |
| 66 | ON THE DOT | CROSSROADS - UCESC | ELIZABETH & ROSELLE | \$480.00 | 28 | \$13,440.00 |
| 228 | A & M | CROSSROADS - UCESC | NEW PROVIDENCE | \$360.00 | 28 | \$10,080.00 |
| 187 | A & M | CROSSROADS - UCESC | UNION | \$600.00 | 28 | \$16,800.00 |
| 305 | ON THE DOT | CROSSROADS - UCESC | UNION | \$510.00 | 28 | \$14,280.00 |
| 26 | FIRST CARE | DCF ESSEX | EAST WINDSOR & | | | |
| 40 | FINSI CARE | DCF ESSEA | STATE OF NJ | \$475.00 | 40 | \$19,000.00 |
| 208 | ON THE DOT | DCF ESSEX | ROSELLE | \$519.00 | 40 | \$20,760.00 |
| 60 | OTD2 | DCF UNION | STATE OF NJ | \$505.00 | 40 | \$20,200.00 |
| 67 | ON THE DOT | DCF UNION | STATE OF NJ | \$525.00 | 40 | \$21,000.00 |

| 69 | ON THE DOT | DCF UNION | STATE OF NJ | \$525.00 | 40 | \$21,000.00 |
|-----|---------------|----------------------|---------------------|----------|----|-------------|
| 175 | ON THE DOT | DCF UNION | STATE OF NJ | \$505.00 | 40 | \$20,200.00 |
| 204 | 8 TRANS | DERON I | ELIZABETH | \$480.00 | 30 | \$14,400.00 |
| 200 | MADISON COACH | DERON I | HILLSIDE & UNION | \$422.00 | 30 | \$12,660.00 |
| 43 | ON THE DOT | DERON I | LINDEN | \$360.00 | 30 | \$10,800.00 |
| 347 | MADISON COACH | DERON I | LINDEN & ROSELLE | \$462.00 | 30 | \$13,860.00 |
| 105 | NIOL VI | DEDONI | PLAINFIELD & SCOTCH | | | |
| 105 | NELVI | DERON I | PLAINS | \$480.00 | 30 | \$14,400.00 |
| 177 | NELVI | DERON I | RAHWAY | \$440.00 | 30 | \$13,200.00 |
| 90 | ON THE DOT | DERON I | UNION | \$375.00 | 30 | \$11,250.00 |
| 301 | MADISON COACH | DERON I | UNION | \$422.00 | 30 | \$12,660.00 |
| 198 | Н & А | DERON I | WEST ORANGE | \$355.00 | 30 | \$10,650.00 |
| 218 | MADISON COACH | DERON II | ELIZABETH | \$462.00 | 30 | \$13,860.00 |
| 98 | K & S | DERON II | HILLSIDE | \$548.00 | 30 | \$16,440.00 |
| 31 | FIRST CARE | DERON II | LINDEN | \$639.00 | 30 | \$19,170.00 |
| 308 | FIRST CARE | DERON II | NEW PROVIDENCE | \$539.00 | 30 | \$16,170.00 |
| 85 | JARIS | DERON II | RAHWAY | \$390.00 | 30 | \$11,700.00 |
| 322 | OTD2 | DERON II | ROSELLE | \$395.00 | 30 | \$11,850.00 |
| 143 | FIRST CARE | DERON II | SCOTCH PLAINS | \$559.00 | 30 | \$16,770.00 |
| 202 | CROSS | DERON II | UNION | \$605.00 | 30 | \$18,150.00 |
| 89 | MADISON COACH | DERON II | WEST ORANGE | \$503.00 | 30 | \$15,090.00 |
| 280 | JARIS | DERON II | WEST ORANGE | \$495.00 | 30 | \$14,850.00 |
| 385 | PRESTIGE | DLC - NEW PROVIDENCE | LINDEN | \$398.00 | 30 | \$11,940.00 |
| 32 | JARIS | DLC - NEW PROVIDENCE | RAHWAY | \$440.00 | 30 | \$13,200.00 |
| 190 | JARIS | DLC - NEW PROVIDENCE | RAHWAY | \$450.00 | 30 | \$13,500.00 |
| 126 | K & S | DLC - NEW PROVIDENCE | ROSELLE | \$728.00 | 30 | \$21,840.00 |
| 57 | CROSS | DLC - NEW PROVIDENCE | UNION | \$532.00 | 30 | \$15,960.00 |
| 193 | FIRST CARE | DLC - WARREN | ELIZABETH | \$746.00 | 30 | \$22,380.00 |
| 393 | FIRST CARE | DLC - WARREN | ELIZABETH | \$525.00 | 30 | \$15,750.00 |
| 49 | FIRST CARE | DLC - WARREN | HILLSIDE | \$525.00 | 30 | \$15,750.00 |
| 254 | JARIS | DLC - WARREN | LINDEN | \$522.00 | 30 | \$15,660.00 |
| 346 | PRESTIGE | DLC - WARREN | LINDEN & ROSELLE | \$528.00 | 30 | \$15,840.00 |
| 189 | MADISON COACH | DLC - WARREN | PLAINFIELD | \$462.00 | 30 | \$13,860.00 |
| 220 | CROSS | DLC - WARREN | UNION | \$665.00 | 30 | \$19,950.00 |
| 374 | JARIS | DLC - WARREN | UNION | \$432.00 | 30 | \$12,960.00 |
| 375 | MADISON COACH | DLC - WARREN | WEST ORANGE | \$462.00 | 30 | \$13,860.00 |
| 93 | S & MC | EAST MOUNTAIN | ELIZABETH | \$320.00 | 30 | \$9,600.00 |
| 2 | BRIGHT START | EAST MOUNTAIN | WEST ORANGE | \$419.00 | 30 | \$12,570.00 |

| | | 7 | | 1 | ī | 1 |
|------|--------------|--------------------------|----------------------------------|----------|----|-------------|
| 55 | BEST TRANS | EAST MOUNTAIN | WOODBRIDGE | \$410.00 | 30 | , , |
| 119 | PRESTIGE | ECLC | CLARK & GARWOOD | \$448.00 | 20 | \$8,960.00 |
| 365 | FIRST CARE | ECLC | SCOTCH PLAINS | \$779.00 | 20 | \$15,580.00 |
| 83 | ON THE DOT | ECLC | UNION | \$355.00 | 20 | \$7,100.00 |
| 162 | ON THE DOT | ECLC | WEST ORANGE | \$295.00 | 20 | \$5,900.00 |
| 75 | PRESTIGE | ECLC | WESTFIELD | \$498.00 | 20 | \$9,960.00 |
| 185 | PRESTIGE | ECLC | WESTFIELD | \$448.00 | 20 | \$8,960.00 |
| 150 | BEST TRANS | EPIC | CRANFORD | \$370.00 | 28 | \$10,360.00 |
| 11 | OTD2 | ESSEX VALLEY | HILLSIDE | \$375.00 | 22 | \$8,250.00 |
| 113 | ON THE DOT | ESSEX VALLEY | LINDEN | \$362.00 | 22 | \$7,964.00 |
| 290 | ON THE DOT | ESSEX VALLEY | UNION | \$370.00 | 22 | \$8,140.00 |
| 174 | ON THE DOT | FEDCAP | ELIZABETH | \$489.00 | 35 | \$17,115.00 |
| 156 | JARIS | FEDCAP | HILLSIDE | \$388.00 | 35 | \$13,580.00 |
| 64 | ON THE DOT | FEDCAP | LINDEN | \$465.00 | 35 | \$16,275.00 |
| 0.47 | W 0 C | EIDOX OTHI DDEN | CRANFORD & | | | |
| 247 | K & S | FIRST CHILDREN | KENILWORTH | \$548.00 | 34 | \$18,632.00 |
| 176 | Н & А | FIRST CHILDREN | HILLSIDE | \$409.00 | 34 | \$13,906.00 |
| 260 | GOLDEN ARROW | FIRST CHILDREN | LINDEN | \$500.00 | 34 | \$17,000.00 |
| 10 | GOLDEN ARROW | FIRST CHILDREN | LINDEN & RAHWAY | \$550.00 | 34 | \$18,700.00 |
| 231 | GOLDEN ARROW | FIRST CHILDREN | PLAINFIELD | \$550.00 | 34 | \$18,700.00 |
| 234 | GOLDEN ARROW | FIRST CHILDREN | PLAINFIELD | \$550.00 | 34 | \$18,700.00 |
| 251 | GOLDEN ARROW | FIRST CHILDREN | PLAINFIELD | \$550.00 | 34 | \$18,700.00 |
| 252 | GOLDEN ARROW | FIRST CHILDREN | PLAINFIELD | \$550.00 | 34 | \$18,700.00 |
| 114 | GOLDEN ARROW | FIRST CHILDREN | SCOTCH PLAINS | \$550.00 | 34 | \$18,700.00 |
| 39 | K & S | FIRST CHILDREN | UNION | \$498.00 | 34 | \$16,932.00 |
| 240 | GOLDEN ARROW | FIRST CHILDREN | UNION | \$550.00 | 34 | \$18,700.00 |
| 34 | BUSY BEE | FRANKLIN SCHOOL - SUMMIT | GARWOOD | \$302.00 | 23 | \$6,946.00 |
| 22 | ON THE DOT | FRANKLIN SCHOOL - SUMMIT | SUMMIT | \$370.00 | 17 | \$6,290.00 |
| 27 | ON THE DOT | FRANKLIN SCHOOL - SUMMIT | SUMMIT | \$300.00 | 17 | \$5,100.00 |
| 6 | BUSY BEE | FRANKLIN SCHOOL - SUMMIT | WESTFIELD | \$332.00 | 17 | \$5,644.00 |
| 9 | FIRST CARE | FUTURE FOUNDATIONS | KENILWORTH & LINDEN & ROSELLE | \$639.00 | 29 | \$18,531.00 |
| 18 | K & S | FUTURE FOUNDATIONS | RAHWAY | \$528.00 | 29 | \$15,312.00 |
| 100 | NELVI | FUTURE FOUNDATIONS | SCOTCH PLAINS | \$400.00 | 29 | \$11,600.00 |

| 63 | BUSY BEE | GARDEN ACADEMY | NEW PROVIDENCE | \$408.00 | 30 | \$12,240.00 |
|-----|------------------------|----------------------|---------------------|----------|----|-------------|
| 51 | BRIGHT START | GARDEN ACADEMY | WESTFIELD | \$369.00 | 30 | \$11,070.00 |
| 2 | IADIC | CATEMAN | GARWOOD & ROSELLE | | | |
| 3 | JARIS | GATEWAY | PARK | \$405.00 | 30 | \$12,150.00 |
| 73 | ON THE DOT | GATEWAY | LINDEN | \$360.00 | 30 | \$10,800.00 |
| 369 | ON THE DOT | GATEWAY | RAHWAY | \$385.00 | 30 | \$11,550.00 |
| 326 | ON THE DOT | GATEWAY | UNION | \$390.00 | 30 | \$11,700.00 |
| 179 | BRIGHT START | GRAMON | WEST ORANGE | \$381.00 | 30 | \$11,430.00 |
| 196 | PRESTIGE | GRAMON | WEST ORANGE | \$448.00 | 30 | \$13,440.00 |
| 84 | PRESTIGE | HIGH POINT OF BERGEN | RAHWAY | \$398.00 | 23 | \$9,154.00 |
| 158 | ON THE DOT | HILLSIDE AVE SCHOOL | MOUNTAINSIDE & | | | |
| 136 | ON THE DOT | HILLSIDE AVE SCHOOL | SCOTCH PLAINS | \$355.00 | 19 | \$6,745.00 |
| 109 | BUSY BEE | HONOR RIDGE | CRANFORD | \$325.00 | 30 | \$9,750.00 |
| 80 | ON THE DOT | HONOR RIDGE | ELIZABETH | \$345.00 | 30 | \$10,350.00 |
| 201 | ON THE DOT HONOR RIDGE | HONOR RIDGE | KENILWORTH & | | | |
| 201 | ON THE DOT | HONOR RIDGE | RAHWAY | \$355.00 | 30 | \$10,650.00 |
| 116 | BY FAITH | HONOR RIDGE | PLAINFIELD & SCOTCH | | | |
| 110 | BIFAIIH | HONOR RIDGE | PLAINS | \$435.00 | 30 | \$13,050.00 |
| 250 | ON THE DOT | HONOR RIDGE | UNION | \$375.00 | 30 | \$11,250.00 |
| 284 | PRESTIGE | HONOR RIDGE | WESTFIELD | \$390.00 | 30 | \$11,700.00 |
| 403 | JARIS | HUNTERDON PREP | SCOTCH PLAINS & | | | |
| 403 | JARIS | HUNTERDON PREP | WESTFIELD | \$435.00 | 30 | \$13,050.00 |
| 203 | CPL | JARDINE | CRANFORD | \$342.00 | 30 | \$10,260.00 |
| 212 | GOLDEN ARROW | JARDINE | PLAINFIELD | \$620.00 | 30 | \$18,600.00 |
| 58 | CPL | JARDINE | ROSELLE | \$342.00 | 30 | \$10,260.00 |
| 42 | CPL | JARDINE | ROSELLE PARK | \$343.00 | 30 | \$10,290.00 |
| 87 | CPL | JARDINE | UNION | \$407.00 | 30 | \$12,210.00 |
| 181 | ON THE DOT | JFK | CRANFORD | \$375.00 | 35 | \$13,125.00 |
| 102 | ON THE DOT | JFK | LINDEN | \$405.00 | 35 | \$14,175.00 |
| 148 | ON THE DOT | JFK | LINDEN | \$415.00 | 35 | \$14,525.00 |
| 17 | OTD2 | JFK | RAHWAY | \$362.00 | 35 | \$12,670.00 |
| 120 | ON THE DOT | JFK | RAHWAY | \$475.00 | 35 | \$16,625.00 |
| 123 | ON THE DOT | JFK | RAHWAY | \$435.00 | 35 | \$15,225.00 |
| 304 | K & S | JFK | SCOTCH PLAINS | \$498.00 | 35 | \$17,430.00 |
| 264 | 8 TRANS | KEAN | HILLSIDE | \$563.00 | 12 | \$6,756.00 |
| 38 | ON THE DOT | KOHLER | ELIZABETH | \$485.00 | 30 | \$14,550.00 |
| 225 | PRESTIGE | KOHLER | HILLSIDE | \$398.00 | 30 | \$11,940.00 |
| 281 | FIRST CARE | KOHLER | LINDEN | \$519.00 | 30 | \$15,570.00 |

| 30 | VILLANI | KOHLER | LINDEN & RAHWAY | \$648.24 | 30 | \$19,447.20 |
|-----|--------------|-------------------------------|------------------------------------|----------|----|-------------|
| 227 | K & S | KOHLER | ROSELLE | \$648.00 | 30 | \$19,440.00 |
| 221 | FIRST CARE | KOHLER | UNION | \$529.00 | 30 | \$15,870.00 |
| 271 | K & S | KOHLER | UNION | \$648.00 | 30 | \$19,440.00 |
| 206 | K & S | LAKE DRIVE | ELIZABETH | \$548.00 | 19 | \$10,412.00 |
| 246 | FIRST CARE | LAKE DRIVE | UNION | \$389.00 | 19 | \$7,391.00 |
| 15 | K & S | LAKEVIEW | HILLSIDE | \$498.00 | 30 | \$14,940.00 |
| 101 | FIRST CARE | LAKEVIEW | KENILWORTH | \$519.00 | 30 | \$15,570.00 |
| 267 | FIRST CARE | LAKEVIEW | LINDEN | \$629.00 | 30 | \$18,870.00 |
| 236 | K & S | LAKEVIEW | PLAINFIELD | \$598.00 | 30 | \$17,940.00 |
| 36 | FIRST CARE | LAKEVIEW | RAHWAY | \$599.00 | 30 | \$17,970.00 |
| 192 | FIRST CARE | LAKEVIEW | RAHWAY | \$559.00 | 30 | \$16,770.00 |
| 241 | NELVI | LAMBERTS MILL | ELIZABETH | \$410.00 | 28 | \$11,480.00 |
| 79 | ON THE DOT | LAMBERTS MILL | PLAINFIELD | \$335.00 | 28 | \$9,380.00 |
| 219 | BRIGHT START | LAMBERTS MILL | RAHWAY | \$309.00 | 28 | \$8,652.00 |
| 327 | BUSY BEE | LAMBERTS MILL | SCOTCH PLAINS | \$342.00 | 28 | \$9,576.00 |
| 188 | J & J | LAMBERTS MILL | VARIOUS | \$530.00 | 28 | \$14,840.00 |
| 291 | A & M | LAUREL SCHOOL OF PRINCETON | SCOTCH PLAINS | \$580.00 | 18 | \$10,440.00 |
| 345 | ON THE DOT | LEAP @ HILLSIDE AVE SCHOOL | PLAINFIELD | \$342.00 | 19 | \$6,498.00 |
| 45 | BUSY BEE | LEAP @ HILLSIDE AVE SCHOOL | UNION | \$360.00 | 19 | \$6,840.00 |
| 387 | BUSY BEE | LIMITLESS | CRANFORD | \$420.00 | 30 | \$12,600.00 |
| 94 | BUSY BEE | LIVINGSTON HS | WESTFIELD | \$388.00 | 30 | \$11,640.00 |
| 82 | J & J | LV MOORE | ROSELLE | \$485.00 | 19 | \$9,215.00 |
| 232 | K & S | LV MOORE | ROSELLE | \$449.00 | 19 | \$8,531.00 |
| 279 | J & J | LV MOORE | ROSELLE | \$485.00 | 19 | \$9,215.00 |
| 306 | J & J | LV MOORE | ROSELLE | \$565.00 | 19 | \$10,735.00 |
| 358 | J & J | LV MOORE | ROSELLE | \$565.00 | 19 | \$10,735.00 |
| 107 | A & M | MARY DOBBINS SCHOOL | CLARK | \$460.00 | 30 | \$13,800.00 |
| 50 | PRESTIGE | MIDLAND SCHOOL | KENILWORTH & WESTFIELD | \$498.00 | 30 | \$14,940.00 |
| 142 | FIRST CARE | MIDLAND SCHOOL | MOUNTAINSIDE & SPRINGFIELD & UNION | \$689.00 | 30 | \$20,670.00 |
| 234 | FIRST CARE | MIDLAND SCHOOL | WOODBRIDGE | \$674.00 | 30 | \$20,220.00 |
| 382 | FIRST CARE | MONTGOMERY ACADEMY | CRANFORD/LINDEN | \$477.00 | 22 | \$10,494.00 |

| 124 | ON THE DOT | MONTGOMERY ACADEMY | HILLSIDE | \$344.00 | 22 | \$7,568.00 |
|-----|---------------|--------------------------|---------------------|----------|----|-------------|
| 129 | JARIS | MONTGOMERY ACADEMY | SUMMIT | \$338.00 | 22 | \$7,436.00 |
| 139 | BEST TRANS | MOUNTAIN LAKES HS | ELIZABETH | \$380.00 | 18 | \$6,840.00 |
| 286 | JARIS | MOUNTAIN LAKES HS | LINDEN | \$356.00 | 18 | \$6,408.00 |
| 134 | Н & А | MT CARMEL | HILLSIDE | \$289.00 | 20 | \$5,780.00 |
| 110 | PRESTIGE | MT CARMEL | LINDEN | \$428.00 | 20 | \$8,560.00 |
| 133 | PRESTIGE | MT CARMEL | LINDEN | \$398.00 | 20 | \$7,960.00 |
| 160 | BUSY BEE | MT CARMEL | RAHWAY | \$380.00 | 20 | \$7,600.00 |
| 383 | PRESTIGE | MT CARMEL | SCOTCH PLAINS | \$388.00 | 20 | \$7,760.00 |
| 72 | MADISON COACH | MT CARMEL | WEST ORANGE | \$491.00 | 20 | \$9,820.00 |
| 77 | PRESTIGE | NEW BEGINNINGS | UNION | \$428.00 | 30 | \$12,840.00 |
| 115 | K & S | NEW ROAD PARLIN | CLARK & CRANFORD & | | | |
| 115 | K & S | NEW ROAD PARLIN | RAHWAY | \$548.00 | 30 | \$16,440.00 |
| 138 | PRESTIGE | NEW ROAD PARLIN | ELIZABETH | \$398.00 | 30 | \$11,940.00 |
| 52 | PRESTIGE | NEW ROAD SOMERSET | LINDEN & ROSELLE | \$448.00 | 30 | \$13,440.00 |
| 155 | PRESTIGE | NEW ROAD SOMERSET | SCOTCH PLAINS | \$378.00 | 30 | \$11,340.00 |
| 40 | JARIS | NEW ROADS SOMERSET | NEW PROVIDENCE | \$446.00 | 30 | \$13,380.00 |
| 161 | MADISON COACH | NEW ROADS SOMERSET | WESTFIELD | \$482.00 | 30 | \$14,460.00 |
| 244 | FIRST CARE | NEWGRANGE | RAHWAY | \$598.00 | 30 | \$17,940.00 |
| 169 | K & S | NEWMARK HS | CRANFORD & | | | |
| 109 | K & 5 | NEWWARK 113 | WESTFIELD | \$498.00 | 18 | \$8,964.00 |
| 19 | K & S | NEWMARK HS | LINDEN & RAHWAY | \$478.00 | 18 | \$8,604.00 |
| 359 | PRESTIGE | NEWMARK HS | SCOTCH PLAINS | \$398.00 | 18 | \$7,164.00 |
| 255 | BUSY BEE | NEWMARK K-8 | NEW PROVIDENCE | \$370.00 | 18 | \$6,660.00 |
| 88 | 88 K & S | NEWMARK K-8 | PLAINFIELD & SCOTCH | | | |
| 00 | K & 5 | NEWWARK K-0 | PLAINS | \$498.00 | 18 | \$8,964.00 |
| 293 | PRESTIGE | NEWMARK K-8 | RAHWAY | \$398.00 | 18 | \$7,164.00 |
| 287 | BUSY BEE | NEWMARK K-8 | WESTFIELD | \$320.00 | 18 | \$5,760.00 |
| 333 | OTD2 | NJ REGIONAL DAY | UNION | \$365.00 | 25 | \$9,125.00 |
| 224 | BUSY BEE | NU VIEW | PLAINFIELD | \$342.00 | 33 | \$11,286.00 |
| 265 | K & S | NU VIEW | PLAINFIELD & SCOTCH | | | |
| 203 | K & 5 | NO VIEW | PLAINS | \$618.00 | 33 | \$20,394.00 |
| 130 | ON THE DOT | NU VIEW | RAHWAY | \$363.00 | 33 | \$11,979.00 |
| 164 | BUSY BEE | NU VIEW | ROSELLE PARK | \$388.00 | 33 | \$12,804.00 |
| 146 | S & MC | OUR LADY OF PEACE | NEW PROVIDENCE | \$285.00 | 20 | \$5,700.00 |
| 268 | A & M | P.G. CHAMBERS | LINDEN | \$470.00 | 30 | \$14,100.00 |
| 154 | FIRST CARE | P.G. CHAMBERS | MOUNTAINSIDE & | | | |
| 137 | FIRST CARE | FIRST CARE P.G. CHAMBERS | WESTFIELD | \$669.00 | 30 | \$20,070.00 |

| 300 | FIRST CARE | PATHWAYS TO ADULT | ROSELLE | 4-00.00 | | 4 |
|-----|--------------|--|-------------------------|----------|----|-------------|
| 200 | | LEARNING | THI LOIDE | \$589.00 | 29 | \$17,081.00 |
| 320 | JARIS | PHOENIX CENTER | HILLSIDE | \$474.00 | 18 | \$8,532.00 |
| 211 | JARIS | PHOENIX CENTER | LINDEN | \$498.00 | 18 | \$8,964.00 |
| 108 | JARIS | PHOENIX CENTER | NEW PROVIDENCE | \$475.00 | 18 | \$8,550.00 |
| 74 | K & S | PHOENIX CENTER | UNION | \$598.00 | 18 | \$10,764.00 |
| 178 | FIRST CARE | PHOENIX CENTER | WEST ORANGE | \$559.00 | 18 | \$10,062.00 |
| 323 | BARKER | PILLAR ELEMENTAY | SCOTCH PLAINS | \$605.00 | 30 | \$18,150.00 |
| 380 | A & M | PILLAR ELEMENTAY | UNION | \$540.00 | 30 | \$16,200.00 |
| 159 | K & S | PILLAR ELEMENTAY & PILLAR HIGH SCHOOL | ROSELLE | \$598.00 | 30 | \$17,940.00 |
| 302 | FIRST CARE | PILLAR HS | LINDEN | \$559.00 | 30 | \$16,770.00 |
| 16 | FIRST CARE | PILLAR HS | NEW PROVIDENCE | \$539.00 | 30 | \$16,170.00 |
| 199 | GOLDEN ARROW | PILLAR HS | SCOTCH PLAINS | \$525.00 | 30 | \$15,750.00 |
| 141 | FIRST CARE | PILLAR HS | UNION | \$584.00 | 30 | \$17,520.00 |
| 180 | FIRST CARE | PILLAR HS | UNION | \$719.00 | 30 | \$21,570.00 |
| 144 | FIRST CARE | PILLAR HS | WEST ORANGE | \$569.00 | 30 | \$17,070.00 |
| 152 | PRESTIGE | PILLAR HS | WEST ORANGE | \$348.00 | 30 | \$10,440.00 |
| 4 | K & S | PISCATAWAY REGIONAL DAY | ROSELLE | \$518.00 | 29 | \$15,022.00 |
| 194 | JARIS | PRINCETON CHILD DEVELOPMENT | SCOTCH PLAINS | \$595.00 | 30 | \$17,850.00 |
| 151 | JARIS | REED ACADEMY | UNION | \$476.00 | 30 | \$14,280.00 |
| 191 | JARIS | ROOTS ABA | WEST ORANGE | \$428.00 | 30 | \$12,840.00 |
| 157 | PRESTIGE | RUTGERS | LINDEN & RAHWAY | \$378.00 | 35 | \$13,230.00 |
| 243 | BUSY BEE | RUTGERS | ROSELLE | \$408.00 | 35 | \$14,280.00 |
| 409 | ON THE DOT | RUTGERS | ROSELLE | \$390.00 | 35 | \$13,650.00 |
| 307 | BUSY BEE | SAWTELLE LEARNING | ROSELLE PARK | \$408.00 | 20 | \$8,160.00 |
| 14 | ON THE DOT | SCOTCH PLAINS HS | SCOTCH PLAINS | \$249.00 | 19 | \$4,731.00 |
| 214 | JARIS | SEARCH LEARNING | WESTFIELD | \$380.00 | 30 | \$11,400.00 |
| 261 | JARIS | SHEPARD PREP | NEW PROVIDENCE | \$386.00 | 30 | \$11,580.00 |
| 33 | PRESTIGE | SHEPARD PREP | WESTFIELD | \$448.00 | 30 | \$13,440.00 |
| 217 | JARIS | SHEPARD PREP | WESTFIELD | \$386.00 | 30 | \$11,580.00 |
| 1 | BUSY BEE | SHEPARD SCHOOL | UNION | \$372.00 | 30 | \$11,160.00 |
| 186 | PRESTIGE | SOMERSET ACADEMY | LINDEN | \$448.00 | 30 | \$13,440.00 |
| 210 | JARIS | SOMERSET HILLS | NEW PROVIDENCE & SUMMIT | \$480.00 | 30 | \$14,400.00 |
| 70 | PRESTIGE | SOMERSET HILLS | WESTFIELD | \$548.00 | 30 | \$16,440.00 |

TRANSPORTATION - NEGOTIATED CONTRACTS ESY

| 249 | MADISON COACH | ST JOSEPH F/T BLIND | WOODBRIDGE | \$382.00 | 30 | \$11,460.00 |
|-----|---------------|------------------------|---------------------|----------|----|-------------|
| 147 | FIRST CARE | STEPPING STONES | UNION | \$459.00 | 30 | \$13,770.00 |
| 235 | S & MC | STEPPING STONES | WESTFIELD | \$360.00 | 30 | \$10,800.00 |
| 339 | BUSY BEE | SUMMIT HS | WESTFIELD | \$360.00 | 17 | \$6,120.00 |
| 23 | JARIS | SUMMIT SPEECH | LINDEN & RAHWAY | \$431.00 | 30 | \$12,930.00 |
| 233 | JARIS | SUMMIT SPEECH | NEW PROVIDENCE | \$375.00 | 30 | \$11,250.00 |
| 131 | FIRST CARE | THERAPEUTIC | LINDEN & ROSELLE | \$403.00 | 29 | \$11,687.00 |
| 223 | FIRST CARE | TRINATAS | PLAINFIELD | \$469.00 | 34 | \$15,946.00 |
| 238 | JARIS | VENTURE PROGRAM | RAHWAY | \$445.00 | 30 | \$13,350.00 |
| 59 | BY FAITH | WALGREENS | RAHWAY | \$375.00 | 13 | \$4,875.00 |
| 239 | ON THE DOT | WESTBRIDGE | HILLSIDE | \$390.00 | 17 | \$6,630.00 |
| 125 | ON THE DOT | WESTBRIDGE | LINDEN & RAHWAY | \$445.00 | 17 | \$7,565.00 |
| 25 | FIRST CARE | WESTLAKE | CRANFORD & | | | |
| 23 | FIRST CARE | WESTLAKE | WESTFIELD | \$619.00 | 28 | \$17,332.00 |
| 248 | ON THE DOT | WESTLAKE | ELIZABETH | \$370.00 | 28 | \$10,360.00 |
| 215 | K & S | WESTLAKE | HILLSIDE | \$498.00 | 28 | \$13,944.00 |
| 237 | ON THE DOT | WESTLAKE | LINDEN | \$370.00 | 28 | \$10,360.00 |
| 341 | NELVI | WESTLAKE | LINDEN | \$440.00 | 28 | \$12,320.00 |
| | | | NORTH PLAINFIELD & | | | |
| 263 | K & S | WESTLAKE | PLAINFIELD & SCOTCH | | | |
| | | | PLAINS | \$478.00 | 28 | \$13,384.00 |
| 112 | A & M | WESTLAKE | RAHWAY | \$370.00 | 28 | \$10,360.00 |
| 205 | FIRST CARE | WESTLAKE | SCOTCH PLAINS | \$499.00 | 28 | \$13,972.00 |
| 24 | BEST TRANS | WINDSOR BERGEN ACADEMY | LINDEN | | | |
| 47 | BEST TRUNS | WINDSON BENGEN MCMBEMT | EINBEN | \$395.00 | 30 | \$11,850.00 |
| 229 | JARIS | WINDSOR LEARNING | SCOTCH PLAINS & | | | |
| 449 | Onido | WINDSON EE/IRMING | WESTFIELD | \$368.00 | 30 | \$11,040.00 |
| 297 | PRESTIGE | WINDSOR PREP HS | WESTFIELD | \$448.00 | 30 | \$13,440.00 |
| 216 | MADISON COACH | WORK READINESS | CRANFORD | \$382.00 | 28 | \$10,696.00 |
| 222 | ON THE DOT | WORK READINESS | ELIZABETH | \$295.00 | 28 | \$8,260.00 |
| 410 | ON THE DOT | WORK READINESS | HILLSIDE & UNION | \$475.00 | 28 | \$13,300.00 |